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OO00000000 publicintgetCount(String str,String sign){//
Jodododosrdooodsdodnd if(str==null)
return 0. StringTokenizer s=new StringTokenizer(str,sign). return
s.countTokens(). } public String[] getArray(String str,String sign){//
Jododsodoooooooodn int
count=getCount(str,sign). int j=0. String[] arr=new String[count].
for(int i=0.1if(str.indexOf(sign)!=-1){ j =str.indexOf(sign).
arr[i]=str.substring(0,j). str =str.substring(j 1). }else{ arr[i]=str. } }
returnarr. } 0 0 jdk130 000000000 O jdkO .40 O O
JO0030000000000 public String
stringReplace(String sourceString, String toReplaceString, String
replaceString) { String returnString = sourceString. int stringLength
= 0. if(toReplaceString != null) { stringLength =
toReplaceString.length(). } if(returnString != null amp.
returnString.length() > stringLength) { int max = 0. String S4 ="".
for(inti=0.1{max =itoReplaceString.length() >
sourceString.length()? sourceString.length():i stringLength. String S3
= sourceString.substring(i, max). if(!1S3.equals(toReplaceString)) {
S4 = S3.substring(0,1). }Yelse{ S4 = replaceString. i = stringLength -1.
} } returnString = S4. } return returnString. } O U O [ weblogic] [
OO0 poolO00OO0O0OO0O0OO0OOOexpservdOodonn
00O 0O :expserv U O O sidexpservSIDO D O OO OO OO



[1 expserv L1 weblogic7.000 O O 0O OO OO O
http://localhost:port/console [ I service\jdbc\connection pools [
[I oraclePool J [0 Configuration[d Name: oraclePool URL.:
jdbc:oracle:thin:@expserv:1521:expservSID Driver Classname:
oracle.jdbc.driver.OracleDriver Properties(key=value):
user=expserv Targetsl] Targets-Server[] expserv L1 weblogic7.0C]
DO0000000000poold OO OO O config.xmld O O
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function ChangeToBig(value) { var intFen,i. var
strArr,strCheck,strFen,strDW,strNum,strBig,strNow.
if(trim(value)=="")//0 000 0O0O0O"D "return "0 ", if
(isNaN(value)) /O 0000000 OUooOO {strerr="00"
value "[J 00 O " alert(strErr). return "". } strCheck = value ".". strArr
= strCheck.split("."). strCheck = strArr[0]. if(strCheck.length>12) //
Jodododouooouoood {strerr="00 "value"
0000000 "alert(strerr). return ™. } try {i=0. strBig ="".
IntFen =value*100. /00000000 O OO strFen =
IntFen.toString(). strArr = strFen.split("."). strFen = strArr[0]. intFen
=strFen.length. //0 0O O O strArr =strFen.split("™). /0 O O O O
000000 while(intFen!=0) /0 0 O O O {i=1i1.switch(i) //
OO0 0O {case 1:strDW ="[1 ".break. case 2:strDW = "1 ".break.
case 3:strDW ="[1 ".break. case 4:strDW = "[1 ".break. case 5:strDW
="[J ".break. case 6:strDW = "[1 ".break. case 7:strDW = "1 ".break.
case 8:strDW = "[1 ".break. case 9:strDW = "1 ".break. case
10:strDW ="[1J ".break. case 11:strDW ="[1 ".break. case 12:strDW
="[] ".break. case 13:strDW ="01 ".break. case 14:strDW ="



[1 ".break. } switch (strArr[intFen-1]) /L1 OO 0O O { case "1":strNum
="O"break. 100Test D D OO0 OO0 oooUo
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